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In the English language “In the pipeline” term is used for
a) In the process of being developed

b) The line made by pipe

¢) Inside the prison

d) Taking revolt of

Choose the word nearest in meaning to “Celestial”

a) Relishing b) Heavenly c¢) Worldly d) Boring

In the English language “White Elephant™ means
a) A rare object b) An uneconomical possession

¢) An object that does not exist d) A useful possession

Per capita means

a) per hundred b) per capitals c) per fifties d) Per head

Deficiency of iron in human diet causes

a) Goitre b) Scurvy ¢) Anaemia d) Rickets

LPG is a mixture of

a) carbon monoxide and carbon dioxide
b) butane and propane

¢) methane and ethylene

d) carbon dioxide and oxygen

The acid present in lemons and oranges is
a) acetic acid b) hydrochloric acid

¢) citric acid d) oxalic acid
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10.

A solar eclipse occurs when

a) the moon comes between the sun and the carth
b) the carth comes between the sun and the moon
¢) the sun comes between the carth and the moon

d) the sun, the moon and the earth are not in the same

1C chips™ for computers are usually made of

a) lead b) silicon ¢) chromium d) gold

The term 10T, means

a) Internet of Technology b) Information of Technology

¢) Internet of Things d) Information of Thinking

. Who was the Republic Day Chief Guest in 2025

a) Prabowo Subianto b) Sheikh Hasina

¢) Muhammad Yunus d) Donald Trump

. Who among the following was recently honored with the Padma Shri award

a) Arunoday Saha b) Mamta Kulkami

¢) Abhay Singh, 11Tian Baba d) Mark Zuckerberg

. Who inspired the young Bengal Movement in the 19th century

a) Ram Tanu Lahiri b) Henry Vivian Dorozev

¢) Rasik Kumar Malik d) Piyare Chand Mitra

Ihe first country which discovered sea route to India

a) Dutch b) British ¢) Portugal d) French
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15. What does the Indian Parliament consist of

17.

18.

15

20.
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a) The President of India, Lok Sabha and Rajya Sabha

b) The Prime minister of India, Lok Sabh and Rajya Sabha
¢) Vidhan Sabha, Vidhan Parishad

d) All of the above

. Habeas Corpus meant

a) To have the body b) To bring justice
¢) To enquire the case d) To have a lot of money

The Indian Standard Time is taken from which city

a) Jabalpur b) Praygraj ¢) Guwabhati d) Varanasi

Decimal system uses which number as the basis?

a) 10 b) 100 ¢) 1000 d) 10000

Which of the following is not the state:

a) Manipur b) Ladakh ¢) UP d) Gujarat

Which one of the following countries is not a member of the” Quadrilateral Security
Dialogue™, also known as “QUAD™?

a) China b) Japan ¢) India d) Australia

. Which of the following substances is a bad conductor of electricity?

a) Diamond b) Gold ¢) Silver d) Graphite

. Which of the following diseases is caused due to the deficiency of proteins?

a) Arthnitis b) Kwashiorkor

¢) Goitre d) Night Blindness



29.

23. In a certain code language, ‘ki ru pi’ means ‘nobody like cruel’,

‘ki mi cha” means
*king was cruel’ and ‘ru pi cha’ means ‘nobody like king’. What is the code for
‘was’ in the given code language?

a) ki b) mi c) cha d) ru

. Simplify24 +4x2+8-4

a) | b) 7 c) 16 d) 56

. .......are the unorganized facts that can be processed to generate meaningful
information.
a) Information b) Data ¢) Blog d) Contexts

. What 1s 20% of 25% of 300 ?

a) 150 b) 60 ¢) 45 d) 15

. Arrange the following words in a logical and meaningful order. 1. Writing 2. Book

3. Seller 4. Idea 5. Feedback 6. Reader ?
a)4.1,2,3,6,5 b}4.1,2.6,3,5
e)4,.1,3,6.5.2 d)4,1,2,6,5, 3

Arrange the following words as they appear in the English Dictionary. 1. Chairman
2. Challan 3. Chaos 4. Champion 5. Changing ?

a) 1,2,4,5,3 b)1;4,2,3,5
e) 1, 3,4,2,5 d)1,2,3,4,5

Which letter will come next in the following series ZJUQN.L,

a) K b)H c)G d)M
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30. Which number will replace the question mark (?) in the following scrics,
136,137.135.138,134,139,?

a) 136 b) 138 ¢) 139 d) 133

1. I+ means * = " - means “+', x means - and = means * x 7, then what will be the
value of the following expression. 18 + 6 - 27 + 3 x [2=?

a) 92 b) 105 ¢) 95 d) 107

32. Priyank is Akshay’s brother. Sonia is Saksham’s sister. Akshay is Sonia’s son. How
1s Privank related to Sonia?
a) Nephew b) Father ¢) Son d) Brother

33. Introducing Rukmani, Vijay said, “She is the mother of the son of only brother of

my wife.” What is the relation of Rukmani’s husband with Vijay?
a) Brother-in-law b) Father

¢) Father-in-law d) Son

34. Five books labelled B, G, N, P and T are kept one above the other (Not necessarily
in the same order). Only one book is kept between N and G. B is just above P. B is
above N. G is not above N. Which book is at the top?

a) G b) P ¢) B T

o
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. Three of the following four number pairs are alike in a certain way and one 1s
different. Find the odd one out?

a) Mercury b) Mars ¢) Moon d) Venus

36. If DRIVE is coded as 59372, and SPUR is coded as 6489, what will be code for
PRIDE ?

a) 49235 b) 94532 c) 49352 d) 43925
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37. ‘Meat’ is related to Vegetarian® in the same way as ‘Alcohol” is related o
a) Tectotaler b) Smoker

¢) Water d) Dietician

38, ‘Flower’ is related to ‘Bouquet” in the same way as ‘Animal” is related to?

a) Herd b) Group ¢) Cow d) Cluster

39, Kumbh Mela is NOT held at?
a) Allahabad b) Ujjain ¢) Puri d) Haridwar

40. Name the annual fair of Rajasthan at which camel trading is a major event ?
a) Sura) Kund Mcla b) Maru Mela

¢) Pushkar Mela d) Sonepur Mela

41. Book ‘A Brief History of Time’ is written by
a) John Green b) J K Rowling

¢) Suzame Colling d) Stephen Hawking
I g

42. Who is the writer of novel ‘The White Tiger™?
a) R.K. Narayan b) Arvind Adiga

¢) Vikram Seth d) Shashi Tharoor

43. Which one of the following pairs is not correctly matched?
a) Kanpur: Nana Saheb
b) Jhansi: Laxmi Bai
¢) Gwalior: Tatya Tope

d) Allahabad: Kunwar Singh
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44. Where did the Indian National Congress get divided into two wings moderates
and extremists?

a) Calcutta Session 1911 b) Surat Session 1907
¢) Lahor Session 1909 d) Karachi Session 1913

45. An article ‘Why I am an Atheist” was written by
a) B.K. Dutt b) Bhagat Singh
c) Bhagavati Charan Vohra d) Yashpal

46. The Speaker of Lok Sabha is elected by
a) the members of the majority party in the Lok Sabha
b) all the members of Lok Sabha
¢) all the members of Parliament

d) the people directly

47. Keibul Lamjao National Park is in which state of India

a) Tripura b) Assam ¢) Manipur d) Sikkim

48. The vitamin which is very labile and easily destroyed during cooking as well as
storage is vitamin

a) Vitamin D b) Vitamin C ¢) Vitamin K d) Vitamin B6

49. Black soils are also known as .........
a) Regur soils b) Black cotton soil

¢) Both the above d) None of the above

50. Ctrl+W command in Office document is used to
a) Undo an action b) Increase line spacing

¢) Open document d) Close document
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. Which of the following is not a circulation procedure?

a) Registration of members b) Charging of overdues

¢) Renewal of books d) Preparation of shelf card

2 Which one is not service of circulation section?

a) Binding of book's b) Lending of book's
¢) Renewal of book's d) Discharging of book's
SDI service is a/an

a) Group Service b) Individual Service

c) Parallel Service d) Retrospective Service

What is the chief record in the library?

a) Catlogue b) Accession Register
¢) Collection Register d) Shelf list

Resource sharing is a part of
a) Library cooperation b) Library administration
¢) Library management d) Library automation

Library cess is one of the sources of finance for which type of libraries

a) National Library b) Special library
¢) Public Library d) College library

. Articles published in research journals are

a) Secondary source b) Primary sources

c¢) Reference source d) Tertiary source
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60.

61.

64.

NDL-India is developed and maintained by
a) 11T, Guwahati b) T, Chennai
¢) IIT, Kharagpur d) I'T, Roorkee

. Which of the following is not a reference management tool?

a) Mendeley b) Zotero ¢) End Note d) Grammarly

Scopus 1s a
a) Software b) Database

¢) Journal d) Computer

Data about Data is known as:
a) Microdata b) Metadata

¢) Database d) Databank

2. “Grey Literature” refers to:

a) Computer peripherals b) Archival documents

¢) AV materials d) Unpublished literature

. What do we mean by recall in the context of a library?

a) Calling back the issued documents
b) Recalling something from memory
¢) Renaming something

d) Registering users

Barcode helps the library in - section.
a) Periodical b) Circulation
¢) Technical d) Finance
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Shelf rectification refers 1o oversceing of
a) Proper maintenance of shelves

b) Users records

¢) Internet connectivity in library

d) All of the above

The duties of non-professional employees are

a) Classification and cataloging

b) Cleaning and shelving books, routine reading of the shelves
¢) Acquiring books

d) Taking control of the reference section

Which of the following is not associated with library activities?
a) User education b) Archiving information
¢) Providing formal degrees d) Classification
APUPA pattern is related with:

a) Arrangement of books in a shelf

b) Descriptive cataloguing

¢) Subject cataloguing

d) Arrangement of catalogue entries

How many fundamental categories did Ranganthan propose?

a) Two b) Three ¢) FFour d) Five
Compact storage is used in libraries having problems.

a) Funds b) Space c) Staff d) Books
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‘Science Reporter’ is published by :

a) NIScPR b) DRDO ¢y LISC d) UGC

Which of the following is a secondary source of information?

a) Patent b) Standard ¢) Yearbook d) Diary

It is a service that establishes a link or contact between a user/reader and
document/book through personalised service :

a) Reference Service b) Abstracting service

¢) Indexing service d) Circulation service

To make library vibrant, it is desirable that the services that a library provides must
be

a) User Oriented b) Books oriented

¢) Technology oriented d) Preservation oriented

The One Nation One Subscription initiative is a game-changing scheme for India's
research ecosystem. By providing digital access to over 13,000 journals from

a) 30 publishers b) 20 publishers

¢) 1300 publishers d) All the publishers

A unique code preferred by publishers in the identification and exchange of the

content of a digital object, such as a journal article, Web document, or other item
of intellectual property.

a) URL b) DOI ¢) RFID d) QR Code

A memorial publication, usually in the form of a collection of essays or speeches
by distinguished persons, issued in honor of a scholarly person or society,
sometimes on the occasion of an anniversary, birthday, or retirement celebration

a) Biography b) Annual report

¢) Festschrift d) festival book
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“India: A reference annual” is the publication of
a) Ministry of Education

b) Ministry of Social Welfare

¢) Ministry of Information and Broadcasting

d) Ministry of Science and Technology

GOC stands for

a) Good office committee

b) Good office conduct

¢) Government office control

d) General office correspondence

Full form of RFID is

a) Radio Frequency Identification Device
b) Radio Frequency Identification

¢) Radio Following Identity Device

d) Radio Frequently Identifying Device

To stitch a trouser 1 m 25 cm cloth is required. Out of 10 m cloth, how many
trousers can be stitched?

a)2 b) 4 c)6 d) 8

. Sangeeta types 25 pages per day. How many pages will she type in the month of
November?
a) 900 b) 800 c) 700 d) 750

. Which of the following is true?
a) (-8)+ (- 4)> (- 8) ~ (- 4) b) (- 8) + (-4) < (- 8) (- 4)
c)(-8)+(-4)=(-8)-(-4) d) none of these.
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One number is greater than the other number by 3. The sum of two numbers is 23.
The two numbers are

a) 13,10 b) 14,9 ¢) 12,11 d) 15,8

The area of a square plot is 1600 sq m . The sidc of the plot is

a) 40 m b) 80 m c) 120 m d) 160 m

The ratio of 6 kg to 400 g is
a) 101 b) 15 ] 121 d)6:1

The sum of the measures of two complementary angles is

a) 180° b) 60° c) 45° d) 90°

Which one is the correct sentence:
Playing/they/in/are/ground/the/cricket.

a) The cricket are playing they in the ground.
b) They are playing cricket in the ground.

¢) They are in the ground playing cricket.

d) They are playing in the ground cricket.
Which gas is safe and an effective extinguisher for all confined fires
a) Nitrogen dioxide b) Carbon dioxide

¢) Sulphur dioxide d) Nitrous Oxide

What is the animal in the logo of Make in India campaign?

a) Tiger b) Panther
¢) Lion d) Cow
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To *Break the ice” means

a) To win some one heart

b) To do something with courage
¢) To win a prize

d) To speak first after long silence

A person who gives help and sympathy to people who need it. Is called

a) Preacher b) Moralist ¢) Samaritan d) Pardoner

The antonym of Sweet is

a) Delicious b) Pleasant ¢) Bitter d) Special

Select the incorrectly spelt word

a) Aristocrate b) Advertise ¢) Occurrence d) Preference

The book tags, date labels, book carts, and book pockets are used in the technical
section for

a) Labeling of documents b) Record processing

¢) Physical processing d) Technical processing

There are two major methods currently used for library book theft detection

a) Active protection and video surveillance and closed-circuit television (CCTV)
b) Burglar protection system and Alarm system

¢) Volumetric sensors and visible sensOrs

d) Electromagnetic detection and radio frequency identification (RFID)

Find the wrong DDC number
a) 300 Social Science b) 700 Arts and Recreation
¢) 400 Literature d) 900 History and Geography
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98. Vikshit Bharat Abhiyan @
a) 2027 b) 2047 c) 2037

99. GeM stands for
a) Government E Marketplace
b) Government eligible marketing

c) Government Market platform

d) Gems of life

100. CIP means____
a) Cataloguing-on-publication
b) Cataloguing-in-publication
¢) Classification-on-publication

d) Classification-in-publication

d) 2057
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Answer Keys for The Post of Library Attendant

Question

Number Answer (Option)
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